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Part A

1) Find the number of divisors of 720 (including 1 and 720).
(A)16 (B)22 (C)25 (D)30

2)The highest power of 3 that completely divides 40! Is
(A)18 (B)16 (C)24 (D)30

3)The difference of 10* — 7 and 10% + x is divisible by 3 for x = ? 5
(A1 (B)2 (G4 (D)5

4)The mean of 1, 2, 22 ... 2*' lies in between
(A) 2% to 2% (B) 2% to 2% (C) 2% to 27 (D) 2% to 2% i

5) After striking a floor a rubber ball rebounds (5/6)th of the height from which it has fallen. Find
the total distance (in metres) that it travels before coming to rest, if it is gently dropped from a
height of 210 metres.

(A)1540 (B)2310 (C)4315 (D)5024

6)Find the sum of all three-digit natural numbers, which on being divided by 7, leave a
remainder equal to 6.
(A) 70,208 (B) 70,780 (C) 70,680 (D) 71,270

7)In a family of 5 males and a few ladies, the average monthly consumption of grain per head is
9 kg. If the average monthly consumption per head be 12 kg in the case of males and 8 kg in
the case of females, find the number of females in the family.

(A) 18 (B) 12 (C) 9 (D) 15

8)One-fifth of a certain journey is covered at the rate of 20 km/h, one-fourth at the rate of 50
km/h and the rest at 55 km/h. Find the average speed for the whole journey.
(A) 53 km/h (B) 40 km/h (C) 35 km/h (D) 38 km/h

9)There are two mixtures of milk and water, the quantity of milk in them being 20% and 80% of
the mixture. If 2 liters of the first are mixed with three liters of the second, what will be the ratio
of milk to water in the new mixture? (A) 11:12(B)11:9(C)19:11(D)14: 11

10)A mixture of 75 liters of alcohol and water contains 20% of water. How much water must be
added to the above mixture to make the water 25% of the resulting mixture?
(A) 5 liters (B) 1.5 litre (C) 2 liters (D) 2.5 liters



11) In an examination, 80% students passed in Physics, 70% in Chemistry while 15% failed in
both the subjects. If 3250 students passed in both the subjects. Find the total number of
students who appeared in the examination. (A) 7500 (B) 8,000 (C) 3000 (D) 5,000

12)The price of a certain product was raised by 20% in India. The consumption of the same
article was increased from 400 tons to 440 tons. By how much percent will the expenditure on
the article rise in the Indian economy? (A) 32% (B) 25% (C) 27% (D) 26%

13) If the length, breadth and height of a cube are decreased, decreased and increased by 5%,
5% and 20%, respectively, then what will be the impact on the surface area of the cube (in
percentage terms)? (A) 7.25% (B) 5% (C) 8.33% (D) 6.0833%

14)A man sells a plot of land at 8% profit. If he had sold it at 15% profit, he would have received
" 630 more. What is the selling price of the land? (A) * 9320 (B) * 9600 (C) * 9820 (D) * 9720

15)David sells his Laptop to Goliath at a loss of 20% who subsequently sells it to Hercules at a
profit of 25%. Hercules, after finding some defect in the laptop, returns it to Goliath but could
recover only * 4.50 for every ° 5 he had paid. Find the amount of Hercules’ loss if David had paid
" 1.75 lakh for the laptop. (A) * 3500 (B) * 2500 (C) * 17,500 (D) None of these

16) An orange vendor makes a profit of 20% by selling oranges at a certain price. If he charges
" 1.2 higher per orange he would gain 40%. Find the original price at which he sold an orange.
(A) " 5(B) 4.8 (C) 6 (D) None of these

17)A precious stone weighing 35 grams worth ™ 12,250 is accidentally dropped and gets broken
into two pieces having weights in the ratio of 2 : 5. If the price varies as the square of the weight
then find the loss incurred. (A) * 5750 (B) * 6000 (C) * 5500 (D) * 5000

18)14. A tank of capacity 25 litres has an inlet and an outlet tap. If both are opened
simultaneously, the tank is filled in 5 minutes. But if the outlet flow rate is doubled and taps
opened the tank never gets filled up. Which of the following can be outlet flow rate in litres/min?
(A)2(B)6(C)4 (D)3

19)Two poles of height 6 m and 11 m stand vertically upright on a plane ground. If the distance
between their foot is 12 m, find the distance between their tops.
(A)12m (B)14 m(C)13m (D) 11 m



Part-time MBA 30 10 50 10
Full-time MBA only 150 8 16 6
CA only 90 10 37 3
Full time MBA & 70 2 7 1
CA

20) The percentage increase in students of full-time MBA only over CA only is (A) less than 20
(B) less than 25 (C) less than 30 (D) more than 30



